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6.7 Rates of Change of Trigonometric Functions
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Example: Find the AROC of y = 3sin(2x) - 4 on the interval [0, 30°]

ARoc = + (3o~ f o™
20%°- 6"

- fesinfed—) - (236 9- O\
36"




6.7 Rates of change of trig functions

November 03, 2016

Example: Find the IROC of y = cos(x) at "‘\ s RN
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Example 3: Make a sketch of y = sin(x). Predict
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(a) an interval where the AROC is zero Y_ o, ~\T\_\ ) (_Z 1,21 }‘ Ij'_{: =
(b) an interval where the AROC is positive [ O T/Z_’l
(c) an interval where the AROC is negative S: _-‘__-; \ -\\-‘1
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(e) avalue where the IROC is the largest
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